Labor Costs Worksheet Name k E Y

1. One employee is using a nail gun and can do a job in 5 hours. Another employee is using a hammer
and can do the job in 6.5 hours. If they are both working on the job, how long will it take?
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2. One employee is using a nail gun and can do the job in 4 hours. Another employee is using a hammer
and can do the job in Shours 45 minutes. If they are both working on the job, how long will it take?
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3. A company hires both builders and finishers to complete a project. A builder makes $12 an hour while
the finisher makes $25 an hour. Write an equation using b for builder and f for finisher to represent the

cost for labor. If a builder works 18 hours and the finisher works 10 hours on a job, how much is the cost
for labor?
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4. A company hires builders, finishers, and painters to complete a project. A builder makes $12 an hour,
the finisher makes $20.50 an hour, and the painter makes $8.50 an hour. Write an equation using b for
builder, f for finisher, and p for painter to represent the cost for labor. If a builder works 12 hours, the
finisher works 8 hours on a job, and the painter works 2 hours, how much is the cost for labor?

812 + $2050F + $8L0Op= CASt
$12012) + ‘Wﬁ@()(@) + $850(2)= cost

bidge] v sld + 8 17= (ost

B}l‘}: (’05#(

5. One pump can fill a tank with oil in 3 hours. A second pump can fill the same tank in 4 hours. If both
pumps are used at the same time, how long will they take to fill the tank?
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6. Ann can trim hedges around her property in 8 hours using an electric hedge trimmer. Dave can do the
same job in 15 hours using a manual trimmer. How long will it take them to trim the hedges together?
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